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2021 Q-65 [set-A] Number pattern
In the series _b_a_ba_b_abab_aab; fill in the six

blanks (_) using one of the following given four
choices such that the series follows a specific order.
(a) bababa (b) baabba (c) bbaabb (d) ababab

A &y 10 TR fdpedl § I v forhe BT STANT PR
Y oY _b_a_ba_b_abab_aab ¥ frem vE R
T (L) BT 39 axg W arfep ag Aol e fafdre s
T TR Y

(a) bababa (b) baabba

M

a

(c) bbaabb (d) ababab

& Explanation video in English CIass-1 9

There are 18 terms. (18 =6 x 3)

a_

RS # wgsdiavr Fiftar S

ake groups of 6, see if any pattern is formed.

If it fails, make groups of 3

18 UG E. (18=6x 3)

6 % WIE ST, 3 ¥ o g et aear 21
af a8 freher Y& &, A 3 % g TG

_b_a_b abbaab Answer:
b_ab abbaab ababab
b_aab abbaab

2019 Q-54 [set-A] Number pattern

Consider the following sequence that follows some arrangement
c_accaa_aa_bc_b

The letters that appear in the gaps are

(a) abba (b) cbbb (c) bbbb (d) cccc

Wﬁmmmmmﬁmﬁwﬁﬁwwﬁﬂwzﬁﬁm
c_accaa_aa_bc_b

b T F 31 aTeY ATER BIF-WE 2
(a) abba (b) cbbb (c) bbbb (d)cccc

There are 15 terms. (15=5x3)

Make groups of 5, see if any pattern is formed.
If it fails, make groups of 3

1505 8. (15=5x3)

5 3 T 991G, I fF o 1S et a2

af I% fwher Tga 8, A1 3 & W a1¢

c_acc ccacc Answer
aa_aa aabaa cbbb
_bc_b bbchbb

2020 Q-15 [set-A] Number pattern

Consider the following arrangement that has some missing letters
abab_b_bcb_dcdcded_d

The missing letters which complete the arrangement are
(a)a,b,c,d (b)a,b,d,e

(c)a,c,c,e (d)b,c,d, e

There are 20 terms. (20=5x4)
Make groups of 5, see if any pattern is formed.
If it fails, make groups of 4

20US E (20 =5x4)
5 % g TG, < p T 1S et arar 21
af Iz fher Tgar 8, A 4 & W a9

T

foret e R e ST, Fore o g avf & abab_ ababa Answer
abab_b_bcb_dcdcded_d b_bcb bcbc b_ acce
H quf, 9t fp e &1 qof oy &, & _dcdc cdecdec
(a)a,b,c,d (b)a,b,d, e ded_d d_eded
(c)a,c,c,e (d)b,c,d, e -
2023 Q-75 [set-A] Number pattern
ABC ABCDD
Consider the sequence ABC - B ABCCD
ABC__ABC_DABBCD_ABCD - -
that follows a certain pattern. Which one of the following completes the sequence? ABBCD ABBCD
(a) DACB (b) CDAB (c) DCCA (d) DDCA _ABCD AABCD
SF-HT'TABC__ABC DABBCD_ABCD
R R BT, ST 6 e P SR T ST B B ﬁmﬁﬂﬁaﬁﬁﬁaﬁ?ww,s Answer
S AT PIQRIGRATS?  (a) DACB  (b) CDAB () DCCA (d) DDCA DDCA
ThereareZOterms(20_5x4) ........................................................................................................... ¢ A B C _ A B C D_
Make groups of 5, see if any pattern is formed. If it fails, make groups of 4 - g i |(3: 2—3 i |(3:
207aE (20=5x4) ‘ BCD_ BCDA
5 % W Y, 3 o oram i et aeverm 81 af a1 ke <@t 8, &Y 4 % g FIG | ABCD  ABCD

Separate explanation videos are available in English & Hindi
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https://youtu.be/mgNeapTfyOo
https://youtu.be/SnFbpBKki1Y
https://youtu.be/SnFbpBKki1Y
https://youtu.be/mgNeapTfyOo

[2018@:59 [set-A] Number pattern

3,2,7,4,13,10, 21, 18, 31, 28, 43, 40

(a)o (b)1 (c)3 (d)6

Replace the incorrect term by the correct term in the given sequence

where odd terms and even terms follow the same pattern.

frreferReae argepe o fermR Shiforg:
Consider the sequence given below: 412195, 1/1/96, 29/1/96, 26/2/96, ...
4/12/95,1/1/96, 29/1/96, 26/2/96, ...
What is the next term of the series? ¥ P DT 3T < AT EIT?
(a) 24/3/96 (b) 25/3/96 (c)26/3/96 (d)27/3/96 (a) 24/3/96  (b) 25/3/96  (c) 26/3/96  (d) 27/3/96
December  January February March
111211 (11211 (11 [21] 1 [11]21
2 (1222 |2 1222 2 (1222 |2 12 22
4/12/95 1/1/96 29/1/96 26/2/96 31323 |3 13 23 3 |13 23| 3 13 23
4 14 24 4 14 24| 4 14 24 4 14 24
" Dl N~ " 5 15 25 5 15 25| 5 |15 25 | 5 15 25
+28 +28 +28 +28 6 |16 26 | 6 16 26 6 16|26 | 6 | 16 26
7 17 27 7 (17 27| 7 |17 27 | 7 17 27
4+26+1+1 1+28  29+2+26 26+3+25 8 18 28 8 |18 28| 8 18 28| 8 18 28
9 19 29 | 9 19 29| 9 |19 29 | 9 19 29
10 |20 |30 |10 20 30 @ 10 | 20 10 20 | 30
31 31 31
12015Q-13 [set-A] Number pattern
What is the missing number ‘X’ of the 7 X 21 31 43
series 7, X, 21, 31,43? N N
(a)11  (b)12 ()13 (d)14 +10 +12
+6 +8
oY 7, X, 21, 31, 43 T oH AT ‘X’ FATE?
X 21,31, 439 § 7+6=13
(@11 ()12 (c)13 (d)14
12021.Q-26 [set-A] Number pattern T R g ST

3,2,7,4,13,10, 21, 18, 31, 28, 43, 40
# 71T U BT WET IS A I8, STeT v 0
3R T U FHTT Ye=t T SR Rt §

40 children are standing in a circle and one of them
(say child-1) has a ring. The ring is passed clockwise.
Child-1 passes on to child-2, child-2 passes on to
child-4, child-4 passes on to child-7 and so on. After
how many such changes (including child-1) will the
ring be in the hands of child-1 again?

(@0 (b)1 (c)3 (d)6
Odd 3 7 13 21 31 43 Even 2 4 10 18 28 40
NN N NN NN N NN
4 6 8 10 12 2 6 8 10 12
4-4=0 A1
incorrect
12023Q-54 [set-A] Number pattern 40 U JUHR ®U F TS ¢ IR ST W @ (99 AfY, T

FHID - 1) B U TP Boall 8l 3 Bool Bl SRIVIAET ¥ 1R
ARG (UT) fRIT SITAT 81 STAT HHiB-1 39 ool Bl sl
PHIP-2 DY U BT &, ToaT HHID-2 W TeaT HhHTD-4 BT IRT
AT §, TT9T hHIB-4 SN TT°T HHID-7 BT TRT BRaT &, 31X 34T
9 A W 3 U fpar SiraT 81 WY fpaer aRad= (s sHie-1
B FIATRR) & I1S T8 BodT AR W goaT HHIB-1 P gl F BFTT?

(a)14 (b)15 (c)16 (d)17 (a)14 (b)15 (c)16 (d)17

l1][2]4a|7[11]16/22]29(37]| 6 |16[27[39]12]|26] 1 |

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

_ Number pattern
What is X in the sequence 132, 129, 124, 117, 106, 93, X 132 129 124 117 106 93 X
(a)74 (b)75 ()76 (d)77 ~ NN NN
TP 132, 129, 124, 117,106, 93, X X FTE ? 3 5 7 1 13 17
(a)74 (b)75 (c)76 (d)77 93-17=176

Separate explanation videos are available in English & Hindi
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[2020Q:13 [set-A] Number pattern

A simple mathematical operation in each number of
the sequence 14, 18, 20, 24, 30, 32, ......... results in a
sequence with respect to prime numbers. Which one
of the following is the next number in the sequence?
(a)34 (b)36 (c)38 (d)40

3T 14, 18, 20, 24, 30, 32,... P TAD AT F T AA
TR WhFaT SR srTST WEATSl BT TP 3HT W e
AT 81 7T 3 9 BT 310w ehY 37Tl W &7

(a)34 (b)36 (c)38 (d)40

Primenumbers: 2 3 5 7 11 13 17 19 23 29 31 37 41
14 18 20 24 30 32 38

fafére oftrea & & | radt arepfir & qw W (2) T E?
(@7 (b)16 (c)21 (d)28

1202310:40  [set-A]| Number pattern Prime numbers till 100
Choose the group which is different from the others:
(a) 17,37,47,97 82
(b) 31,41,53,67 ] _
(c) 71,73,79,83 91 is not prime
(d) 83,89,91,97
I WIE BT AT A o el A T 8-
(a) 17, 37,47, 97
(b) 31, 41, 53, 67
(c) 71,73,79,83
2 11 23 31 41 53 61 71 83 97
(d) 83,89,91,97 .;, E 29 37 23 59 67 ;3 89
7 19
_ Number pattern
What is X in the sequence 4, 196, 16, 144, 36, 100, 64, X? Series-1 Series-2
(a)48 (b)64 (c)125 (d)256 4 16 36 64 196 144 100 X
, 2 4 6 8 14 12 10 8
3T 4, 196, 16, 144, 36, 100, 64, X § X RTE?
(a)48 (b)64 (c)125 (d)256
12022.Q-75 [set-A] Number pattern Extra info: Extra info: Extra info:
What is the value of X in th 12+13 =2 13-12 =0 12-1 =0 13-1=0
at IS e value o in e
sequence 2, 12, 36, 80, 150, X? 22+2% =12 22-2> =4 22-2=2 2°-2=6
(a) 248 (b) 252 (c) 258 (d) 262 32+33 =36 33-32 =18 32-3 =6 33-3 =24
42+ 43 = 80 43-4? = 48 42-4 = 12 43-4 = 60
mgﬁﬁgo,wo,x 52453 = 150 53-52 = 100 52-5=20 53-5 =120
? 2,63 = 3.¢2 = 2_¢ = 3_¢ =
(2) 248 (b)252 (c)258 (d) 262 62+63 =252 6°-6 180 6°-6 =30 63-6 = 210
x2 (x+1) x? (x-1) x (x-1) x (x2-1)
x (x-1) (x+1)
_ Number pattern
Examine the following three figures in which the
numbers follow a specific pattern. The missing
number (?) in the third figure is X7 X9 X8
(a) 7 (b)16 ()21 (d) 28 84 \ 81 \ 88 \

9 ? (11

? =twice of 8

14|12 18

Separate explanation videos are available in English & Hindi
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[2022.0:50,[seEA] Nomber pattern  x3+1-7
What is the value of X’ in the 3T 2, 7, 22, 67, 202, X, 1822 ¥ 7x3+1=22
sequence 2,7, 22, 67, 202, X, 1822? | 'X' &1 HH T &§? 3 X g + i = 525(7)2
(a) 603 (b) 605 (c) 607 (d)608 a) 603 (b) 605 (c) 607 (d) 608 X3+ 1=

(@ (b) () @ 202 x 3 + 1 = 607

120150-12 [set-A] Number pattern

Consider the following matrix.

3

8 10 2 ? 1

What is the missing number at "?" in the matrix?

(a)5 (b)o (c)7 (d)3

6

56 20 2 20 0

e Ry g a1regE R R Hifo:
3TegE H wH-fRrg (“2°) arer | A o AT T 82
(@5 (0 ()7 (d)3

3x2 8x7 10x9 2x1 ?x(?-1) 1x0

5x4=20

202128 [set-A] Number pattern

You are given two identical sequences in two rows:

x0.5 x1.5 x2.5 x3.5 x4.5

What is the value of X in the sequence 20, 10, 10, 15, 30, 75, X?

625
What is the entry in the place of C for the Sequence-II?: | Sequence-l | 8 4 6 15 | 52.5 | 236.25 X 15
a)2.5 b)5 (c)9.375 d) 32.8125
(a) (b) (d) Sequence-ll| 5 [ A | B | C D E g%§5
. . . X
Frr S dferal & &Y W oy Ry v § x0.5 x1.5 x25 x3.5 x4.5 9375
Tl % TG C & v v s fafe 27 C=5x0.5x1.5x2.5=9.375
(@)2.5 (b)5 (c)9.375  (d)32.8125
2022.0:04 [set-A]| Number pattern

(a) 105 (b) 120 (c)150 (d)225 20 10 10 15 30 75 X
NN NN N

ST 20, 10, 10, 15, 30, 75, X ¥ X T A1 AT &7 x0.5 xd xl> x2 x2.5 3

(@) 105 (b) 120 (c) 150 (d)225 75x3 =225
_ Number pattern

Following is a matrix of certain entries. The entries

follow a certain trend row-wise. Choose the missing .

entry (?) accordingly. 7B 10A 3C 7+3 =10 1row=> AB,C
(2)98  (b)3A (3B (d)3C 3C | 9B | 6A [3+6=9 2™row>ABC
3o ff a1 emege e e & vt ufeare (| 10A | 13C | 7 1047 =13 3"row > A2C
T i gy T SIRRoT BReAT 81 TR ST 2=3 2-B
ufafy (?) @1 7= fifvw ’
(@)9B (b)3A (c)3B (d)3C

_ Number pattern

Consider the following matrix: 3 370 7 |13+7+0=10 3+7=10
What is the number at ‘X’ in the above matrix?

1 730 X |7+3+0=10 1+X=10

ﬁﬂﬁmﬁaﬂm‘gqjﬁﬁrwﬁm: X=9

TR T MY 31TeE H X & AN R Hi-4 wEaT 87

(@5 (b) 8 ()9 (d) 11

Separate explanation videos are available in English & Hindi

s 3 B # srerer-3rerer difgAY sqcretr &
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_ Number pattern
Consider the table given below in which the numbers bear
certain relationship among themselves along the rows: 29 13 18 29+13+18= 60
Which one of the following numbers is the missing number
indicated above by X?  (a) 19 (b)15 ()14 (d)8 33 X 19 33+ X +19=
oy & 1 AR o= RreR Hifdg, Rr s dfm % amer s 30 | Z7 3 |30+27 +3=60
% fordry weaewr <t € | Frrefefaa & @ Sl ge ww, Sudw X=60-33-19 =8
xméﬁagﬁw%? (a) 19 (b)15 (c)14 (d)8
_ Number pattern
Consider the following pattern of numbers. 8 10 15 13 8 10 15 13
What is the number at ? in the pattern? = 4
(a)17 (b)19 ()21 (d)23 6 o 7 6| 5| 7| 4
wieEaTait & frfifead sy W) ReR S | 4 6 8 8 +4 | +6 | +8 [ +8
¥ 2% T ) ? S
TRIAT § 7 & AT R BIF-RT HET 3MTEAT? 6 11 16 5 17
(@17 (b)19 (c)21 (d)23
Practice question:
2 6 3 2 2x40=80 3x40=120
6x 4 =24 ?x 4 =36
80 24 120 | 36 ?=9
_ Number pattern

If every alternative letter of the English alphabet from B IfE B & AT (B W) SRS quiHTAT BT Tl ThiaR 318N
onwards (including B) is written in lower case (small letters) B arerY (aﬁzr\r a’_\'ﬂ ¥ foraT ST 3R 91T aTaRY BT IS e
H foraT STIQ, A7 a9 & STRTE P T HI DY A o @r Fe?

and the remaining letters are capitalized, then how is the
first month of the second half of the year written?

(@) JuLY (b)jULy (c)jUly (d) july @) JuLy (b)jUuLy (c)juUly (d)july
Even>smal ABCDEFGHI J] K LM NOU PO QRSTUVWXY Z
0dd - BIG 123456789 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26
_ Number pattern

In the sequence 1,5, 7, 3,5, 7, 4, 3,5, 7, how many such 5s are there which
are not immediately preceded by 3 but are immediately followed by 7?

(@)1 (b)2 (c)3 (d)None

ITHT1,5,7,3,5,7, 4,3, 5,7 5, W fre 5 &, f1p St ugar 3 781 &

fFrgdlmac7s? (a1 (b)2 (c)3 (d) PSTE

v
1|E|7 3|E|7 4 3|E|7

2020Q-34 [set-A] Number pattern

Consider the following sequence of numbers. How many
odd numbers are followed by the odd number in the

above sequence? (a)5 (b)6 (c)7 (d)8 (a)5

frrafaRaa dwamsh & srHd R R g | S o
Y ST § feperit fererer <ieaTait & aTe forer wiveam ot 22
(b)6 (c)7

(d)8

9147398572
86385

6
2

315
243496

Separate explanation videos are available in English & Hindi

s 3 B # srerer-3rerer difgAY sqcretr &
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2014 Q-39 [set-A] Visual pattern
Examine the following figure :

J

Which one of the following figures has the
above figure embedded in it ? -

DN || %

(a) (b) (c) (d)

2015 Q-14 [set-A] Visual pattern

Four cardboard pieces of specific shapes are
shown in the following figure :

i

Which one of the following figures given can
be formed by joining these pieces together ?

Ny

(a) (b) (c)

2015 Q-11 [set-A] Visual pattern

(b) (c) (d)

2014 Q-45 [set-A] Visual pattern

3i0dledal?

2014 Q-43 [set-A] Visual pattern

o0 0 oflo o ofc ©
0 ' A
AA [AAAAAA
oooloo |o

A A A A A AllA

(a) (b) (c) (d

A AAN |[AAA
O o (0]
A
(0] (el ool [oNeNe]

2014 Q-40 [set-A] Visual pattern

(T T

Separate explanation videos are available in English & Hindi

s 3 B # srerer-3rerer difgAY sqcretr &
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[20130:42 [set:A] Visual pattern

12021Q-17 [set-A] Visual pattern

Images of consonants of the English alphabet (Capitals)
a o I are observed in a mirror. What is the number of images
o A o of these which do not look like their original shapes?
e K (a)13 (b)14 ()15 (d)16
T YT F 3G qUIHTET (S 318RY ) & ol B
1 2 3 4 uRiRiaT @T sraee fpar SraT 81 5% I I uffat
&Y HET et & S STuY et STTepfr & T s
2 2 o TR A &2 (a) 13 (b) 14 (c) 15 (d) 16
A Symmetrical letters: AHIMOTUVWXY
A A A Consonants: HM T VWXY
(a) (c) (d) 21-7=14

2013045 [set-A] Visual pattern

Problem figures :

A4 LA

201346 [set-A] Visual pattern

Problem figures :

WL

Answer figures :

(a) (b)

4,

(c)

i

(d)

Answer figures :

(a) (c) (d)

2013Q:57 [set-A] Visual pattern

(1) (2) (3) (4)
(5) (6) (7)

201870 [set-A] Visual pattern

XD B &

(IT) (1I1)

D &

vl

(a) (b) (c)

Separate explanation videos are available in English & Hindi

s 3 B # srerer-3rerer difgAY sqcretr &
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